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® AB = 5cm, BC = 5¢cm, CD = 7cm, DA = 7cm

®

AB = 3cm, DC = 3cm, AB //DC

® OA = 4cm, OB = 4cm, OC = 5¢cm, OD = 5cm

@ AC = 7cm, BD = 7cm

® /A =/B
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4. 0ABCD °|4 AD//BC©o]22 AB=AD ¥ A D

o, x o] 27]=9
757

@D 65° @ 68° ® 70° s

@ 75° @80°

/DBA = /ADB = (180° - 130°) + 2 = 25°
x=180°-(25°+75°) = 80°
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@ AOAB £} AOAD ©] Ho|7} Ztt.
O AOAB = A0CD
© (BAD = /BCD
® ¢ABO = /0BC
©® OA =0C
® AB=BC
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® /ABO = /CDO
® AB =DC




oh2 199 ZAZEoll A LABP = 10° % W, 2x o] 2717

A

D

@® 20° @ 30°

Q

@)50°

® 60°

/x = 90° — 40° = 50°

/PBD = /PDB = /DBC = ¢y 2} 5}
Ly = (90° - 10°) + 2 = 40°




8. e I1HoA oABCD 2] Yolt 20em? o], AACE 2] Y o] 8cm?
oltt. AC//DEY u], AABC 9] Ho]=?

A D
B C E
® 8cm? @ 9cm? ® 10cm?
@ 1lcm? @ 12cm?

AACE = AADE = AADC = ACED ©] 11
AABC = DABCD - AACD OB 2
AABC = 20 - 8 = 12(cm?)




9. o 24 A M2 BC 9 $HY ©l, ADHC 9 Wol=?

@ 4cm? @ 8cm? @ 12cm?

@ 14cm? ®)16 cm?

AM € 719W, ADHM = AAMD ©|E 2,

ADHC = AAMC = %AABC =16 (cm?)




10. o2 2937} 22 HPAHYP ABCD A AE : DE = 2 : 30|12
AABE = 10cm? ¥ W], AEBC 9] {o|&?

A—E D
B C
@ 10cm? @ 12cm? @ 15cm?
@ 20cm? ®)25cm?

AABE + ADCE = %DABCD

AABE : ADCE =2:3
ADCE = 15(cm?)

. AEBC = %DABCD = 25(cm?)




11. o2 199 HIAHY ABCD oM a+b
SER

D)19cm @ 20cm @ 2lcm

@ 22cm ® 23cm

(DAF = (CEF (- 592

(BAE = (CFE (.- 91z}

ACEF = o]5H 7t o] &lo] CE = CF, b = 8cm

ADAF & o]|5H 475 o] 517, pABCD ©|4] AB = DC ©]
oz

AD=DF =a=b+DC =8+3=1lcm
~a+b=11+8=19(cm)
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o 2olA BDE ZAIZE ABCD 9] A

tjZtAolt}, /ABD, /BDC 9] o] 524 0]
AD, BCt 9= A2 42T E, Fet & o,
DE = 8cm ¥ W, oEBFD ¢] E¥|+=?

@ 30cm @)32cm ® 34cm

@ 36cm ® 38cm

~&B

(EDB = /DBF °|t},

= IRl
DE = 8cm | B2 E&+= 4 x 8 = 32(cm) ]t}

EB//DF°|2% (EBD = (FDB©°|i AD//BColR =&

m2kA AEBD = ©]'5H4 2@ o]1l, DE = BE°|E2 nABCD




13. & 139A Athe]E ABCD = AD//BC,A0: CO=1:20°]1
AFh2]ZE ABCD 9] Yol 27cm? € ©, AABO 9] Hol=?

A D
(9)
B C
D)6cm? @ Tcm? @ 8cm?
@ 9cm? ® 10cm?

S5 ~
0ABCD = AAOD + ADOC + AOBC + AABO °]t}.

AAOD 9 HolE gl 6HH, 1:2=a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?
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Apwig ABCD o] 5 2304 A, Coll A B4l
712}, Fe} @ o, DAECF 7 AR
L@~ @9 B2 Ao §7) e AL

ox rx o
9, 1o 1o
1T ofl

B4
)

A D

B C

[714] ABCD &= HJAM Y, /AED = /CFB = 90°
[22] DAECF = HPAHH

[38] LAAED=[ @ (%7

AE//[ © |--@®

AAED ¢} ACFB ©of| A4

/AED = /CFB=90°,

AD=[ @ | — /CBF

w2tA AAED = ACFB (RHA &%)

—CF..-®

@,®°] 2J5to] DAECF &= H3AA S o],

® @ : /CFB ® ©:CF ® ©: BC
@@ : «cpB ® ®: AE

@ (CBF = /ADBo]t},
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oA /BAE = 50°, /CDE = 30° ¢ ], 2CGD = ( )° o|t}. () <tell
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@® 60 @ 65 ® 70 @ 75 ()80

B

ADEA €} ADGC ©]|A]

DA =DC

DE = DG

/ADE = 90° - 30° = 60° , 2CDG = 90° — 30° = 60° 0|22
ADEA = ADGC (SAS &)

/DAE = 90° — 50° = 40° ©]1l /ADE = 60° ©|2& /AED =
180° — 40° — 60° = 80° o|t}. watA LCGD = 80° °]t}.




